What Happens to People Who Don’t
Know Toothpaste From Putty ?

Factor completely each polynomial. Find your answer below and notice the letter
next to it. Write this letter in each box containing the number of that exercise.

(1) 3x®+21x2 + 30x
@) x* + x3 — 56x°
@ X%+ 5x + xy + 5y
(4) 36x° - 64x

@ x> —xd+7x—-7d
(6) 35x2 - 100x — 15
@b Xy + 8x — y? — 8y

Answers:
X3(x + 28)(x + 2)
() (x+y)x +5)
(x—y){y +8)

- 3x(x+5)(x + 2)
(x+7)(x—=d)
(x —2y)(y +4)
x?(x + 8)(x — 7)
5(7x+ 1)(x — 3)
(x = 7)(x* + d)
4x(3x + 4)(3x — 4)
5(7x — 1)(2x + 3)
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Q@ 2ax? — 22ax + 60a
69 x4 — y4

6@ x® —9x + 5x° — 45
GD 2ax?+ 8ax +x + 4
(12 x*—29x%+ 100

(3 x%y?—y?—15x2+ 15
(14) 8x* +56x° + 98

Answers:

QD (2ax + 1)(x + 4)

(B) (x+5)(x-5)(x>+3)
W) 2x? 2x+7)

W) (+yIx+y)x~y)
L ( x+2(x 2)(x + 5)(x — 5)
() 2a(x — 6)(x —5)
GD 2ax—4)(x+1)

©) - 15)x+1)x—1)
(D x+5)(x+3)(x—23)
@) ¢?-15)(x +5)(x—2)
(©) 2a(x+15)(x - 2)
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ALGEBRA WITH PIZZAZZ!
© Creative Publications

OBJECTIVE 3-t: To factor polynomials completely

(includes factoring by grouping).





